
 1

(A) 

Remove Bolts

“Figure 1” Remove Cover and bolts 

“Figure 3” Front of Mounting Angles 

3/8” Hardware

Polaris RANGER RZR  
      Winch Mount  
 
                                       
Winch Mount                    PART # 100660 
        Hardware Kit – HK-032, HK-031 
Kit Components: 
Qty  Part Description 
2……………. LH and RH Winch Mounting Angle 
1……………. Winch Mount fairlead bracket 
4……………. 5/16 x 3/4” Hex Head Flange Bolts 
4……………. 5/16” SAE Flat Washers 
4……………. 5/16” Nylock Nuts 
4……………. 3/8” x 1” Hex Head Bolts 
4……………. 3/8” SAE Flat Washers 
2……………. 3/8” Lock Washers 
2……………. 3/8” x 3/4” Shortneck Carriage Bolt 
4……………. 3/8” Nylock Nut 
2……………. Piggyback Quick-Connect 
1……………. Hardware kit (Mini-Rocker Switch)

 
INSTALLATION INSTRUCTIONS: 
 

1. Begin by removing the plastic cover (A) and 
discarding as shown in Figure 1.  

 
2. For ease of assembly remove 4 bolts as shown in 

Figure 1.     
 

3. Place LH and RH mounting angles into position as 
shown in Figure 2 and 3.  Assemble using the 3/8” 
hardware supplied as shown in the above exploded 
view.  (Note: Make sure you route the cables and 
hoses as shown in Figure 2)                       

 
4. Connect the shorter 2 electrical wires to your winch.  

(Note: Your winch manual may state the opposite, but 
you will need to connect the shorter wires to your 
winch) 

 
5. Place your Winch into position as shown in the above 

exploded view and assemble using the hardware that 
was supplied with your winch. (Note: If you are 
installing a 2-hole mounted winch you will need to 
first install the optional not included Converter Mount 
#100480 as shown in Figure 4) 

 

Note: The cable must come off 
of the bottom of the spool.  
Some 2-Hole mounted winches 
may have the motor on the 
opposite side as shown. 

3/8” Bolt and Lock Washer 

“Figure 2” Rear of Mounting Angles 

Route Cables and Hoses as  Shown 

“Figure 4”  
Exploded View of a 2-Hole Mounted Winch 

Mount #100480 (not included) 

(A) 

Mounting Angles 



 2

6. Assemble the Fairlead Bracket to the RZR Frame as 
shown in Figure 5 and the exploded view above 
using the 5/16” hardware supplied. 

 
7. Assemble your Fairlead to the fairlead bracket 

while routing the cable thru.  Attach your hook. 
 

8. Replace hardware removed from Step 2. 
 

9. Using the instructions provided with your winch, 
wire accordingly. 

 
 
 
CONTACTOR LOCATION 
 

Contactor location is just above the passengers feet as 
shown in Figure 6.  (Note:  You may need to re-drill the 
contactor mounting holes as there are a few contactors that 
will not have the same mounting bolt pattern that is on your 
RZR) 

 
 
SWITCH IGNITION WIRE 

 
1. Crimp the red wire from the remote or switch 

to the included Piggyback Quick Connect. 
 
2. Remove the ORANGE electrical wire from the 

accessory outlet and connect it to the 
piggyback electrical connector. Figure 7 

 
3. Connect the Piggyback connector to the 

accessory outlet.  
 

Mini-Rocker Switch Hardware Kit 
 
This allows you to mount your usual handle bar mounted switch 
to almost any desired location.  

 
a. Remove handlebar mount hardware from the 

switch. 
b. Locate desired mounting location 
c. Mark and drill two switch holes through dash 

using switch housing as a template 
d. Drill a 3rd hole for the switch wiring. 
e. Assemble per Figure 8 

 
 
 
 
 

 
 

 
 
 
 
 
 
 
 

 
 
 
 
 

 

Fairlead Bracket 

“Figure 5”  Mount Fairlead Bracket 

“Figure 8” Mini-Rocker Mounting 

“Figure 6” Contactor Location 

Contactor Location 

“Figure 7” Switch Ignition Wire 

Orange Wire 



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (Coated FOGRA27 \050ISO 12647-2:2004\051)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.40
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /ENU ([Based on '[High Quality Print]'] Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


